Key Fluency Skills by end of Year 2

Quickly add/subtract 1,2,3,4,5,6,7,8,9 to numhbers within 20
Bonds to 10 and 20

Douhbles and halves to 20

Compliments to 100 multiples of 10 e.g. 30 + 70= 100

Rolling number songs for 2s 55 10s 3s
Recall times tables facts for 2s 55 10s

Know conversions for coins e.g. £1 = 100p

Ideas to support at home:

Bowd Gaumes
Playing howrd games can be a great way to improve mental maths
Some great games to play are below:
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Snakes and Ladders

Connect 4

Scarubble (make spelling words and add up totals of words)
Frustration

Card games e.g. Pairs, Snap, pick 2 cards and add them quickly
Play dart howd - adding totals, comparing numhbers

0. Monopoly
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Basic Skills by end of Year 2

Addition
Use honds to add ones
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43 44 45 46 47 48 49 50 51 52 53
o= kin2
459 +-2o=52

Use numher honds to add
tens

4+3=]

4+3=7
4 tens + 3 tens = 7 tens

40 + 30 = 70

Add tens then recomhine
37+20=7?

30 + 20 = 50

50 +7 =57

37 +20 =57

Add tens and then add ones
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Subtruction
Using a numherline and
knowledge of honds to
subtract
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Subtruct ones using honds
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First, I will subtract 5, then 1.
Use honds to ten to subtruct

tens
7 tens subtract 5 tens is 2 tens.

70 - 50 = 20
Suhbtruct tens and ones
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3 groups gf 5
75 in total

Represent equal groups as an
wray

©0000

00000

00000

00000

OO0O000

4 groups gf 5 ... 5 groups gf 5

Understand multiplication as
equal groups on the numher line
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This is 2 groups gf 6 and also 6 groups gf 2.

Divisi
Represent the whole and share into
equal groups i
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20 shared into 5 equal parts.
There are 4 in each part.

Understand division as grouping and
repeated subtruction
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There are 4 groups now.

12 divided into groups gf 3.
12+3=4
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46 - 20 =26
26 -5=27
46 - 25 =21




